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#include <stdio.h>
int main(void){
int i, imax;
int sum;

printf(’10 000000000 000?\t");
scanf ("%d” , &imax);

sum = 0;
i =1;

while (i<=imax){
sum += i;
i++;

}

printf(”sum = %d\n”, sum);

return 0;
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sum = 0;

for (i=1; i<=imax; i++){
sum += i;
}

printf(”sum = %d\n”, sum);

return 0;
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int i, imax;
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scanf ("%d” , &imax);

sum = 0;
i =1;

do{
sum += i;
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}while (i<=imax );

printf(”sum = %d\n”, sum);

return 0;
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deg sin cos tan

0 0.000000 1.000000 0.000000
1 0.017452 0.999848 0.017455
2 0.034899 0.999391 0.034921
3 0.052336 0.998630 0.052408
4 0.069756 0.997564 0.069927
5 0.087156 0.996195 0.087489
6 0.104528 0.994522 0.105104
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357 -0.052336 0.998630 -0.052408
358 -0.034899 0.999391 -0.034921
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